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Currently, in SCL, the size of an array is nhumeric. This could lead to issues of consistency (e.g. one
having 32 array elements
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Description

Currently, in SCL, the size of an array is numeric. This could lead to issues of consistency (e.g. one having 32 array elements and
the other 33). This is not allowed in CDCs such as HDEL. It is suggested that some mechanism be developed to use a single value
instead of multiple integers.

History

#1 - 06/21/2022 09:00 AM - Carlos Rodriguez del Castillo

- Status changed from New to Closed
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